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GENERAL ENGLISH QUALIFYING TEST
FOR GRADUATE STUDENTS OF ENGINEERING
Sample Test

Part | Listening Comprehension (20 minutes, 20
points, 1 for each)

Section A

Directions: In this section, you will hear 9 short corwersations. At
the end of each conversation , there will be a question. Both the conversa-
tion and the question will be spoken only once. Afier each question there
will be a pause. You must read the 4 suggested answers marked [ A],
[B], [C] and [ D] and decide which is the best answer. Then mark
the corresponding letter on the ANSWER SHEET with a single line through
the center.

1. [A] The man didn’t want the woman to have her hair cut.
[B] The woman followed the man’s style.
[C] The woman is wearing long hair now.
(D] The man didn’t care if the woman had her hair cut or not.
.10 -




. [A] The man’s part-time job.

[B] The man’s feeling about study.

[C] The woman’s feeling about part-time job.
[D] The man’s class schedule.

. LA] He likes the instruction.
[B] The professor is dry and boring.
[C] The course is very useful .

[D] The course given by the professor is very informative.

. [A] She saw an ad in the newspaper.

[B] She heard about it during a television interview.
[C] A friend told her about it.

[D] She saw it on a list of job openings.

. [A] The exhibition is not good.

[ B] The exhibition is nice.

[C] He wants to stay at home.

[D] He wants to pay a visit to the exhibition.

. [A] Tom is now ill.

[B] Tom is now very happy.

[C] Tom is now preparing for the test.
[D] Tom is now feeling unhappy.

. [A] The directions to the cinema are given.

[B] The woman was not sure about the way to the cinema.

[C] The woman didn’t want to answer his question.

[D] The man with a beard could give the direction to the cinema.

. [A] Move to Florida.
[B] Buy some expensive furniture.
<11 -




[C] Put a large sum of money in the bank.
[D] Draw ten thousand dollars from the bank.

9. [A] Relaxing and enjoying the scenery in other people’s cars.
[B] To be a good driver.
[C] To be a good passenger.
[D] Driving himself.

Section B

Directions: In this section , you will hear 2 short passages. At the
end of each passage , you will hear some questions . Both the passage and
the questions will be spoken only once. After you hear one question , you
must choose the best answer from the 4 choices marked [A], [ B], [c]
and [ D]. Then mark the corresponding letter on the ANSWER SHEET
with a single line through the center .

Questions 10 to 12 are based on the following passage .

10. [A] They live 22,000 feet above sea level.
[B] They live mostly on mountains or in caves.
[C] They live everywhere.
[D] They live 2,000 feet below the earth’ s surface.

11. [ A] Their developed nervous systems.
[B] Their brains capable of remembering.
[C] Their food.
[D] Their strong webs made of silk that they spin.

12. [A] There will soon be more spiders than insects.
[ B] People should appreciate spiders more.
.12 -




[C] Spiders are smarter than human beings.
[D] People should raise spiders to destroy insects.

Questions 13 to 15 are based on the following passage .

13. [A] The workers’ . [B] The bakers’ .
[C] The employers’ . [D] Both [A] and [C]

14. [A] Employers worked less with their workers.
[B] Employers did not work any longer.
[ C] Workers and employers worked side by side.
[D] Workers and employers began fighting with each other.

15. [A] Employers-only groups were formed.
[ B] The employers saw the need to help the workers.
[ C] The employers wanted to protect their own interests.

[D] The employees saw the need to protect their own interests.
Section C

Directions: In this section you will hear a passage three times.
When the passage is read for the first time , you should listen carefully for
its general idea. When the passage is read for the second time, you are
required to fill in the blanks numbered from 16 to 20 with the exact words
you have just heard. Finally , when the passage is read for the third time,
you should check what you have written. Write your answer on the
ANSWER SHEET .

Scientists reported (16) high temperature throughout the
world. They said 1998 was the hottest year since experts began keeping
<13 -




